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[image: image2.png]B1. Use the correct form of the following words (A-H) to complete the sentences 10-14, as in the
example. There are TWO words you do not need.

(5 x 2 points = 10 points)

accept B. : decia;

D. : garden

Example: The preparations for the royal wedding kept thousands of people busy.

: 10 Economists say that a third of all workers who have kept their jobs in the
i i saw their wages frozen or cut.

: A Matisse painting that fetched a high price showed a colourful background and a
female figure in an elegant dress.

i Parents should ensure that if their children have a computer in their bedroom, they know
" whatisn’t to watch.





[image: image3.png]13. I shall have to think everything through before | make my final

: The police have arrested three businessmen on suspicion of receiving payments
*  from a computer company in return for covering up its financial losses.
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Fill in the gaps with two words in the statements of Column B, so that they have a similar
meaning with the statements of Column A, as in the example.

(5 x 2 points = 10 points)

Example: | won't put up with this behaviour any

| will not tolerate this behaviour any longer.

of passing the exam.

longer.
COLUMN A COLUMN B
15. | Close friends can always think of each other’s Mutual help between close friends can
help as given safely be taken
16. | The minute he walked in, the storm broke out. __had he entered the
house, than the storm began.
17. | You must hand in your essay before you leave Students are expected to submit their
the room. essay prior _____ _ the room.
18. | The manager will consider your application, but | Your application will be considered,
make sure you fill it in at least two days before _ it is completed well in
the meeting. advance.
19. | If Sue studies harder, she'll have more chances | The harder Sue studies, the

she is to pass the exam.
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Match items 20-24 (Column A) with options A-G (Column B) to make complete
statements. In Column B, there are TWO options you do not need.

(5 x 2 points = 10 points)

COLUMN A COLUMN B

20. | While knowledge may be power, A. medicine is moving toward “multiplex
testing for lots of things at once”.

21. | Then there is the long-term challenge B. when people realize that the return
journey is less expensive.

22. | As the cost of testing declines, C. in order to predict risks after an
operation.

23. | One of the things people need to be educated D. genetic testing also brings with it

about tremendous practical and psychological

fallout

24. | Patients should be given exercise tests before E. of living with a genetic spectre lurking in

surgery

the background.

F. is the difference of having a disease and
being at risk for a disease.

G. they hoped that they dodged the genetic
bullet.





